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Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by . Fava-aneraie adtemn (ﬂ'ﬁﬁm Eﬁm éR') BRI Fyifed foar
TR™IT YT

1. Eysenck and Allport / Gﬂﬁfﬁ 3R 3T
2. Galton and Kretchemer / TTec IR PIR
3. Jung and Sheldon / T 3R A=A

4. Murray and Morgan / W 3R AR

Correct Answer :-

- Murray and Morgan / ™ AR AN

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You referred this boy to see an educational psychologist for
assessment. The education psychologist sends a report to you and you need to explain the findings to his mother. His strength is MOST likely found in
which of the following areas?

/ 3T U Sraffhede g1 7 ATe P a90 PI SHifeed A FifEd 9 &1 I UT| ST 9 910 P SHiha & ¢ o
Qe wtagTD D ¢E= P forg el Riam a=idsnf=e vt te Ruid Aedr @ SR s I9d M are s
39 I D1 A B! GHSIH B AMaGPdT ¢ | IT! arepd, Fafifad # @ f5g &7 & o1 3t waifte Gya 22

1. Oral presentation skills / naw Qﬁﬁ‘f DI

2. Verbal concept formation/ RIS YR T3
3. Block design/ CSICAREIES]

4. Abstract thinking/ &ﬂ:lc\_cf g

Correct Answer :-

« Block design/FCIUW ESIES

3) Gender is determined while sexis _____ determined. /ﬁ‘i"T wﬁﬁ%ﬁﬁaﬁm%mﬁ@w =q
I fFufRagar gl

1. Socially, Culturally /Wm,m

2. Biologically, Socially / Sifde g1

3. Biologically, Environmentally /ﬁﬁﬁmw
4. Culturally, Biologically /dR@fa® Sfdd

Correct Answer :-

. Culturally, Biologically /¥R fd® Sifde

4) A set of rules that helps us to derive meaning is known as: /ﬁﬂﬁﬁ@@? Ell Bﬁ 3rdf fRerem o Hag Hdl %, =
& &7 § ST o1 5

1. Sentences / dIdJ

2. Phonemes / -
3. Words / Rl

4. Semantics / SHCH
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Correct Answer :-

. Semantics / HiHfe®

5) Trisha is an eight-year old girl who confidently performs arithmetic tasks that involve adding or subtracting zero from a
number. According to Piaget, which cognitive ability enables Trisha in understanding the concept?/ Br=m Uh 3o L)
TSHI 8, S STATIY T g w1 TRt 8 R v e @ - &t Sie-1 a1 g T e g1 s &
TR, B W WIS &FaT IR0 B STURT THH H H& 941 82

1. Decenter/ ﬁﬁﬁ\m
2. Conservation/ GR&0T

3. Logical reasoning/?‘lTﬁ)_Gh_dT((_'l REEIN Ei"l)
4. Reversibility/ faudar

Correct Answer :-

« Logical reasoning/m(a foree deif+m)

6) By three years, the child is able to speak . /9 a@, F= - CIGEE: Kt A n]
1. Syllables / &R

2. Grammatically complete words / THRVG T TIUT IS

3. Words / Rleg

4. Functionally complete words / PAES TUY EUTW

Correct Answer :-

. Functionally complete words / BTATcH® =0 EUTW

7) According to Abraham Maslow, is the summit of human motivation. / 3{SITgH ARl & YR, HHd

RO & WRTHTET 31

1. Safety need / gR&T P STIRID

2. Love and belonging need / Y9Gl Td Wg Bl SHaIDHdl
3. Need for Self-actualisation / 3H-RifG 1 3razaemdr

4. Esteem need / JHTH I IR

Correct Answer :-

« Need for Self-actualisation / SR 3 P I DHT

8) What type of memory processing involves focusing on the superficial characteristics of an object? | fra R ot '\‘T[fa'

THHRl § fdl avg &1 Hag! fakivar W s $isd B e 82
1. Deep level processing / TTERT TR 1Y

2. Partial processing / i1 FATe

3. Elaborative processing / ﬁﬂﬂ BRINE]

4. Shallow level processing / SUTT ¥R JHTHYT

Correct Answer :-

. Shallow level processing / SYUTT TR JFTL

9) What principle of learning is observed when a child does well in an exam because he was promised a new phone? /

SRATH &1 o 1= T1 Ricgia Wéra ST & i o= foed e § 31 ueei= odr ¢ wiife SU TP ¢ B S1 a1l
far T u1?

Page- 2



1. Negative reinforcement / TP RIHD T clq
2. Negative punishment / TP RIHD qUS
3. Positive punishment / HRIHD qUS

4. Positive reinforcement / JhRIHD l:l"lél-ﬂ"l

Correct Answer :-

- Positive reinforcement / HRTHD Eﬁéﬁ’f

10) What is the unit of heredity? / 3Ta Rramdr D IPIS AT E?

1. Zygote / JTHAS
2. Gene / ST

3. Fertilized cell / FOfId SIRHT
4. Chromosome /Wﬂ?ﬁﬁ

Correct Answer :-

. Gene /St

11) A child does his chores because he will be rewarded with a chocolate if he does. What is the term used to describe the

chocolate? / T T=T 3T HTH HRAT & TP 3R 9 Bl ¢ dl 3 AP A YREPd [T ST | Aibde BT qui
F F e f5a wreg &1 IuE fomar wmar 82

1. Operant conditioner / m 3P
2. Punishing stimulus / g&hY EALCD

3. Reinforcer / Ydcidh

4. Neutral stimulus / & E'?aw

Correct Answer :-

« Reinforcer / ¢

12) Trail and error method was put forth by: / UId TUT ﬁﬁ' fafer 571% GIRT ufaurfea &t TI%:
1. Thorndike / YHSTSH

2. Kohler / PIgaR

3. Piaget / ot

4. Pavlov / TTG@d

Correct Answer :-

. Thorndike / YTHSIS®

13) A student who completes tasks to earn marks is motivated by:/ ww\—:ﬁ 3P 3fofd & aﬂ%ﬂl{aﬂ'& T PdT %,

1. Knowing needs/ HTALAH AT DI ST
2. Intrinsic factors/ 3{TAN® RSB

3. Extrinsic factors/ STG<I PRPB

4. Mastery goals/ HgRd ¢&d

Correct Answer :-

. Extrinsic factors/ S8~} HR&®
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14) Through classical conditioning, a neutral stimulus becomes a/an </ TARYTATEd UTJR A (FATRID T HSIRATHT)
P 1Y 9, TP ISRIH S 1UP TP EERSIGIE

1. Unconditioned Response / &Hﬁﬁ‘ﬁ ﬁm
2. Unconditioned stimulus / \HW REALED
3. Conditioned stimulus / W REALCY

4. Conditioned Response / EIW?[ &Iﬂm

Correct Answer :-

« Conditioned stimulus / W AL

15) A continuous loud noise is avoided by closing the door. This is an example of . /a'e?ﬂﬁ P ¢ HID AR 3
Il AT SHTaTST | F91 ST § 1 98 BT TH ISR &

1. Negative reinforcement / THRIHD Q:ITSTT'FT
2. Negative punishment / TPRIHD qUS
3. Positive punishment / HRIHD qUS
4, Positive reinforcement / HRIHD Q:I_Gfﬂ:f

Correct Answer :-

« Negative reinforcement / TP RIHD gﬂw

16) Several tissues coordinate to give rise to a system. This is known as ./ 3)_5; G, Th TUTTeRt i Waﬁ & ﬁ‘l"!
JIag FIAd &1 59 U H ST SR

1. Continuity / [EEGEG]

2. Integration / WUT
3. Specificity / o

4. Differentiation / faves

Correct Answer :-

- Integration / QWUT

17) Which theory integrates principles explored by chaos, network, and complexity and self-organisation theories? / -

1 R SRTSTh T, Aeae 3R SIfeadr T ST-ITe Rigial §IRT ot T Rigial &) toigd S a?
1. Cognitivism / SRIFTHD

2. Connectivism / SATSIaTG

3. Behaviourism / IdgRAIG

4. Humanism / HIHddIdIg

Correct Answer :-

. Connectivism / TTSIdIE

18) Which of the following is not a teaching skill in inclusive education? / fFrafafea 3 S o guma=h Rrem o Udh Rreror
CARIGE LT

1. Formative / oo
2. Achievement / ST
3. Summative / ATHAEG
4. Performance / &=
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Correct Answer :-

. Formative / ATOTHS

19) Which of the following types of parenting is least likely to benefit a child’s development? / FrafeRaa & & frw woR

& UTEH-UT90T A = F faT H @14 § P HHISAT HaY FH 82
1. Permissive / aﬂtﬁw

2. Uninvolved / 3G (HIdTTdS &G 9 7 el gs

3. Authoritarian / GITaTd]

4. Authoritative / SATIBTRSD

Correct Answer :-

« Uninvolved / 388G (HTGATHS T I - ST §3MM)

20) Which of the following steps should be taken in order to develop creativity in students? / BIEIK: RERIG GO IRCEaRn]

T & fore FafafEd A & 19 a1 $ou Sor s arfge?

1. The teacher has to give freedom to respond. / ﬁTW CARCIRIGRN aﬁ & 1%‘1? Wgdaar el aT%U:I

2. The teacher should deliver lectures on the importance of creativity. / fR1e/ &1 TS & Agd R AR o1 MUl
3. Students should be given opportunities to ask questions. / I DI UHA tgﬁr Cg foTE SR o Sy

4. Teacher himself should be creative. / TRI&f@® @ T 1t [9THS i1 AR

Correct Answer :-

« The teacher has to give freedom to respond. / fR1er &1 ufdfehar o & fore ad=an ot @nfgul

21) Which is the final stage of Piaget’s theory of cognitive development? / TS & UqTeH® fapra & Rigia @1 sifow
SARIT P14 I §2

1. Formal operation stage / 3enies Tfsar srawar
2. Pre-operational stage / tga‘-m AR

3. Concrete operation stage / H\T'f Hfehar sra=yT

4. Sensorimotor stage / Tac) =it s

Correct Answer :-

« Formal operation stage / Sfioaies Tghar SrawT

22) Different parts of the body have / IR & fafte %Wﬁ -] 3-1?” %:
1. Sporadic development / %?3? fa®r a1 Fel-Pal b

2. Uniform development / FJH fawr

3. Different rate of development / ICEARE AR R

4. No development / ﬁ_{r famm qﬁf

Correct Answer :-

- Different rate of development / [CEIREACIEPEESY

23) CANCELLED

’My test results show that | have an interest for sports but | do not have stamina to play’; which of the following tests describes

the above statement?/ 'ﬁﬁﬂWNﬁ%%ﬂ@@ﬁﬁ?ﬁ%WﬁW@ﬁﬁ%ﬁmmﬁ%‘
Frafafea 3 O S 91 rier IuRITd HY= &1 9 a1 8?
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1. Aptitude Test/ STHJI URI&UT

2. Skill test/ IR TRT&OT

3. Achievement test/ SUGTe TRT&ITT
4. Intelligence Test/ §f TRI&0T

Correct Answer :-

- Aptitude Test/ e«rf\Hqﬁr TRI&for

24) CANCELLED

Children often blame themselves for parental conflict. What Piagetian principle explains this belief? / =l SRR HrdT-far

% ¥ gU TS & fore ge &1 gt ara §1 o R 31 faya &6t/ soren sean 82
1. Egocentrism / d1?f

2. A-not-B error / T-g1-all Zfc

3. Conservation / &[0T

4. Animism / Gal&ddIE

Correct Answer :-

« Egocentrism / T

25) CANCELLED

During middle childhood, when faced with failure, what meaning would children attach to their experience? / W& U

F SR, TS BT DT ATHAT ST USal 8, a9 T U U I &1 THS?

1. Shying away from activities in which they are likely to succeed. / Heprat Q?ﬂ Tfafafery & X ?E?f % 58 3% I Eﬂef Cil
HHEAT BT

2. Conclude that trying new things is better. / g IBECCTat :l_ﬁc Aol Bt HIR HIAT dGR % |

3. Conclude that failure is an indication of their incompetence, not a condition that can be modified by learning or practicing. / Ig

freep fepTaT o5 STt aTaT ST 31 dT T Hohd ©, 7 fob Ul fRufa & S sifrms & 1 snare vy © Ixnifera =gt
ICRISIRE |

4. Frustration and becoming more pessimistic about their abilities. / P37 R 3ot el & ey & aifde FRT=maTE 8 s
gl
Correct Answer :-

- Conclude that failure is an indication of their incompetence, not a condition that can be modified by learning or practicing. / 9@

ey ReTaT f5 SrAwear 3! & &1 ohd g, = o U Rufa § oy 2ifenma &= ar ey vy O Uifarg =gt
o ol g g1

26) CANCELLED

According to Jean Piaget, the process which involves changing our existing schemas in the light of new information is

known as ./ S s & 39, T8 ufthar R 7€ SR & USRI § gUR Hiv[gl WA &1 gea-T
Mt FeudaEIeErel

1. Equilibration / q¥=

2. Assimilation / STHIATIHITT
3. Organization/ TG

4, Accommodation / 3{Td

Correct Answer :-

» Accommodation / SHdl¥
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27) CANCELLED

If 20 dots are put along a straight line or curve, we see them together ignoring the gap between them. This follows which of Gestalt's
principle of perceptual organization? / Hﬁ' 20 ﬁg Eal Th AN arap @ F  J1Y-I1Y QT ST % Gﬁ? BH ITd T F iR B
SAIET TR THATY W &1 T8 ITIeT & SAURVITHSD WS & [ Rigid &1 Srgavr ovar 82

1. Law of conﬁnuity/ﬁiﬂﬁﬁﬁ'ﬂﬂ
2. Law of proximity / Fwcar &1 Hag
3. Law of closure /Wﬁﬁﬂﬁ

4. Law of similarity / Tegal &1 aH

Correct Answer :-

. Law of conﬁnuity/ﬁWWﬁQﬂ

28) Teache% need to the needs of diverse group of student. / ﬁT&ﬁ”ﬂ' 1 o & fafqy qqJe P agH sl &I 4|
STaGRdI g

1. Take care of / & TG
2. Orchestrate /thGFﬂa:ﬂef
3. Handle /%@T’TH’T@T

4. Deal with /FITI@T‘ITW%T

Correct Answer :-

« Orchestrate /tﬁ\_rFlTﬁFﬂef

29) Which of the following is most crucial for children to learn to live in a society? / frrafafed 8 ¥ 919 T &1 Th
AT § 381 & forg Weq § wed Aecayyf 82

1. To work on individual tasks /WWWWW
2. To work collaboratively /W@WW

3. To work for rewards/W%WWW

4. To work in isolation /Wﬁmm

Correct Answer :-

« To work collaboratively /WQWW

30) Which of the following can help the child to overcome failure in school? / FFEfIfET & A PI-T1 9= &) foeea #
AT DI gR B T Heg HY ADdl 82

1. Asking them to Focus on next assessment / 35 3RTcl i WR & Pigd B Bl Hgl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdI Y S T WOR A & %Q B% TR S
IR UiTed X1

3. Giving them some free time for leisure / 38 AP & ﬁ‘l’Q PO e 9T AT
4. Changing their section/Class / 5 SIIHRT/ D& &I gl

Correct Answer :-

« Motivating and encouraging them to emphasize on efforts over ability / &Hdl T 3ffdw Tl I OIR &1 & fou 3 aRd &1
3R UiHIed B

Topic:- General Hindi (L1GH)

1) I3 fHum 3, 35 fram o, a1 fiR emu &
NP AT SH
wft e
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STINAHIA H 4] o)d dl
SR @, IR I@d
T T8 § SUS-THS T
FTA a1 Al oF at
A IO F wRA B
IR MG E

Tg WA AP 3
T AR, Xtae qRarg
R forg, e ¥

fRrg, el A gaD? o

o 3 Tl Wi, 1,

Rwwomme

IS I1E B TR

AT R TRA-TRE

e el # A TR

WINTRAR

ot @a §, sifafirt

HFwad

IUY R U B UgHR A I S aTe WA BT IER a1

W= T & Y B 5T A8 SR S0+ 5 UAThTE BRI &) B GREpRIG?
1. M Pt Uelt

2. A H a5

3. g H WHR

4. R A foaH

Correct Answer :-
. EE H EEd

2) 35 fpar 3it, 93 frar o, arqa ik emu &
RPN AT
it eme g

ST WR T gt
R I dl, SR I dl
A 78 ¢ IHS-YHS R
FT a1 i o dt
AT F WA B
QI EE &

T T DR TS
T AR, Xtae qRarg
R fom, srpa av

R, w1 4w org

R 3 i wig, 1,
R amg

IS I FTA TALR
AT R TRA-TR I
3t FERY 3t Ha TR
3T IN T AR

50 @a &, sifafirit
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Nl oxde
IR TR B USHR A T 9 aTd WA HT I a1zt

T 3UR-SR et ff 3@ areal & war @ @ R g2
1. RS
2. AL
3. A
4, Wd-UYR

Correct Answer :-

3) & fpuT 3fY, I3 e o, 1w iR emy &
RN TS
Rty emuE
STRIAT HR T 3 i
SR I dl, S Il
AT 7B § IHS-THS R
BT 91 A g it
AR v & A Y
YA A E

T T ADY
W AR, XMas Rarg
& frg, srFa oY

g, wel & waw? org

5 & TR g, 1,
Rw e

IS T FTA TALR
AT DR IRG-TRS dRY
3¢ HERI & i Tre
W IN T AW

50 Qa A, sifafirit
koo

IR TR B USHR A4 T 9H aTd YR BT I<¥ a1t

U TTEife Qe & U 9P AR SV sAe e i &, i o e mea tea St Re A 22

1. §9dTgl BT
2. U &1

3. 9di &1

4. IR BT

Correct Answer :-

. R HT

4) 6 fam o, 35 fear off, area R amg ¥
RPN S

wR Y e

ST WR T 3@ Y

SR I@ dl, W@l
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HldRe & gHe-UHG P
BT 91 afrP 3 dt
A wron F R
TIMALCE

TE HE AP 3T
X AR, W QA
& R, erdat T

e, et & wawe org

5 & T g, 9,
Rw Mg

IS I FTA TAWR
ATA-AT SR TRG-TRS DY
oY PERl A e TR
TEIN T AW

52 @a &, sifafirEit
Gikaokd

IR IR BT UgHR A U WA aTd W= 61 Ik gargt|

W: FIed 99 U 919 qui I of frart & Far agagE e
L9

2. 3T

3R

4.9d

Correct Answer :-

5) 96 fbar 3ft, 35 fear o, area iR smu &
VRN AT F
R Y e
STHAT HR 1 3@
R T, IR @Al
AT 33 § IWS-YHS R
BT AT A &g
R i & A
I AL E

Tg SR ABR 3T
T AR, Hida W
W frg, srFa oY

forg, et & Tere o

v & T g, 1,
Rwamg

IS I BRI TALR
AT DR IRE-TRS HY
oY BERl A Aa TR
TEIN T RA W

52 @a &, sifafimEt
GiGaokd
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IR TR B USHR A T 9 aTd WA HT I a1zt

TR: ATG A fewet wivg wTer oitg v 82
1. T @t

2. A B

3. AT &t

4, BRI Bt

Correct Answer :-

. GERIH

6) & fruT 3ft, I3 frar o, 1w iR emy &
RN TS
Rty emuE
STRIAT HR T 3 i
SR I dl, S Il
AT 7B § IHS-THS R
BT 91 A g it
AR v & A Y
YA A E

T T ADY
W AR, XMas Rarg
& frg, srFa oY

g, wel & waw? org

R e wgT, 9,
Rw e

IS T FTA TALR
AT DR IRG-TRS dRY
3¢ HERI & i Tre
W IN T AW

50 Qa A, sifafirit
koo

IR TR B USHR A4 T 9H aTd YR BT I<¥ a1t

TR e Wl § P91 W 38 §2
1. fopepe

2. HEg!

3. Pl

4. Sffafeih

Correct Answer :-

. offaffErd

7) 33 fam ait, 35 frar oft, arew R s §
RPN S

wR Y e

ST WR T 3@ Y

FRIGA, IWeEA
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HldRe g gHe-UHG X
BT 91 afrP 3 dt
A wron F R
TIMALCE

TE HE AP 3T
X AR, W QA
& R, erdat T

e, et & wawe org

5 & T g, 9,
Rw Mg

IS I FTA TAWR
ATA-AT SR TRG-TRS DY
oY PERl A e TR
TEIN T AW

52 @a &, sifafirEit
Gikaokd

IR IR BT UgHR A U WA aTd W= 61 Ik gargt|

W B 31 Ghedl R fHam) &1 1 gid W T el g2
1. I R BIEd

2. Haq & HI Bl

3. Saa at

4. Had T HidsH

Correct Answer :-

- Jugad wft

8) 9o fhar 3il, 36 fpar aff, aqa Rk e &
VRN AT F
R Y e
STHAT HR 1 3@
SR I dl, Sl
AT 33 § IWS-YHS R
BT AT A &g
R i & A
I AL E

Ig TR AHR 3T
T AR, Hida W
W frg, srFa oY

forg, et & Tere o

v & T g, 1,
Rwamg

IS I BRI TALR
AT DR IRE-TRS HY
3t TRl 31 e TR
TEIN T RA W

52 @a &, sifafimEt
GiGaokd
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IR TR B USHR A T 9 aTd WA HT I a1zt

7= RraT o ot Bre & wua w I@ W T R
1. {5 S AN 3 6

2. AP T

3. Al B AT S Bl g

4. oS Ry

Correct Answer :-

. FifP B RS §

9) o fFaM ail, 33 frur ait, arew iR e &
RN TS
Rty emuE
STRIAT HR T 3 i
SR I dl, S Il
AT 7B § IHS-THS R
BT 91 A g it
AR v & A Y
YA A E

T T ADY
W AR, XMas Rarg
& frg, srFa oY

g, wel & waw? org

v & e g, 1,
Rwamg

IS T FTA TALR
HAT-AT DR TIRE-TRS HY
31 GERI 3T Wia TR
W IN T AW

5t e &, sifafirait
Gicankd

ITY YL B UgHR I U 9 arel U= 1 Sk 9asu |
USH: 39 D1 § foar & fod ord o1 g™ fear mr g2
L. S S BT

2. 3T BT

3. QI SA &

4. GTdl & @7

Correct Answer :-

o« ST S &1

10) 9o b 3il, 36 fbar aff, aree R e &
RN AT EH

oA M E

ST WR 3@

TR I@dl, SwWIEdl

AT & ¢ SHS-gHS TR
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@il dle] cdlA9 ¢d cl
AR Ui A WA BT
TIM AT E

T RN AR 3T
T AR, XMad ®aE
X forg, ofder oy

frg, w81 @ aawe o

3 3 Rl urg, 4,
R e

I3 91 FTA TAR
HAT-AT= DR TIRE-TRS HY
3 FErl P e TR
T@IN T AW

fostt &, aifafirtit
GikacHd

IUY U B Ugd] A I W aTe) WR &1 Ik 9a13g

URH: YR O $Y T 31 F ARG BT fh IR T80 WHTT USar g2
1. 9Bl R

2. SfETRIT IR

3. WHR R

4. i

Correct Answer :-

o fITRT R

11) 3 A 3, 35 fFam o, ared iR emu &
VRS
TR emeE
STHAH R GE @
TR G dl, IR @Al
T ¥R § SUS-US N
BTA I AP a=a
RN A
LB

g T AHR IS

T AR, Xiad grarg
W o, arpa AY

frg, wel & g o

v 3 Rt wig, 9,
Rwwam g

I aTd T FAR
ATI-AT 6 IRE-TRS 6B
3 PERI A e TR
TG IN T AR

for @a ¥, sifafir
MFRay

ITYT IR D1 UHR -8 U 1 91d W= BT S qa1gt|
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HRA: TP HTAT & X-HX AId DT HATAT PId o Pel &?
1. gReHI B

2. qdi Bt

3. I

4. S1Gell B

Correct Answer :-

. SGell B

12) 9o b 3il, 36 fbar i, arge R e g
VIR AT SH
R ameE

ST WR T IE
R I dl, IR @Al
AT 78 ¥ IHS-YHS R
BT a1t e oxF at
R & A H
YA Y E

T T DT TS

T AR, Hiaw [
R g, spA

forg, wet & Tere g

R & e wg, 9,
Rwomed

IS T FTA TAWR
ATI-ATT R IRE-TRS R
3ite Berl 31 Wa e
3@ IR T AW

st @, sifafmEi
GiEzokd

IuYE IR B USHR A IR WH aTd U BT S} a1t

T P & R o e f i § ol 22
1 DMWY

2. 3= WG A

3. 3] BUA Y

4. 3 WHR

Correct Answer :-

. D HIA Y

13) o fram i, 3o fhar off, area R eme @
WA S

TR eme e

STHAT R T gE @t

TR T, IR @Al

AT YR § IWS-YAS IR

BT 91 AP g

R 7oA RAF
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Akl e

T T BT AT
T A, e ®ars
R fom, srpa v

o, Tt & Taws org

R & S wge, 9,
R amed

IS T FTA TALR
HATI-ATT 6 IRET-TRS hR
3 Gerl & i e
T INT RAW

50 @a &, sifafirit
AP g

IUYa Ui B UGB A I S aTe W BT IER 91t

W TR AR e [Rars e T dw org?
1. et w1 Y

2. 91Gd U UIgA Bl

3. 9l & A &1

4, W & AR\ BT

Correct Answer :-

« S U argH BT

14) 3o fFaM 3, 33 frar off, aree o s &
NRW AT FH
Ry o F

ST R T gt
SRIEA, SR
A 78 ¥ IHS-YAS R
BT a1 AP oa
RN F A F
YIS §

TG I ADT S
T AR, Xtaet Rarg
R, srpa oy

o, 7T @ Taws org

R & R wg, 1,
Rwwomed

IS T FTA TAR
ATI-AT B TRE-TRS DR
3¢ FerRl ® Hia dreR
FWINFRA R

50 @a &, sifafiit
AP

IUYa Ui B U A I S aTe W BT Iw 91t
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HRA: 4 DI P el & [P oW H IR diel} 11T T d-T g ¥ el dx SATd1?

1. A
2. fer M-8

3. RAg
4, Saferat
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15) 9o fhaH 3il, 36 fbar i, arge R e g
VIR AT SH
R ameE

ST WR T IE
R I dl, IR @Al
AT 78 ¥ IHS-YHS R
BT a1t e oxF at
R & A H
YRR AT E

T T DT TS
T AR, Xad Rarg
R g, spA

forg, a1 & Taes o

o & TR g, 1,
Rwomed

IS T FTA TAWR
ATI-ATT R IRE-TRS R
3ite Berl 31 Wa e
3@ IR T AW

st @, sifafmEi
GiEzokd

IuYE IR B USHR A IR WH aTd U BT S} a1t

T §Id WY 3 g1 ¢ o) e % Rig et sied goema grd 22
IRCLEEIIEKC]

2. A5l HRA &I

3. Ud Byd 9% Bl

4. AR T &1
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. TS HUd T i
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WS PT 10 AR A TFHR 40 A & TS; AT IR T 81 T8 | de A FIE 7t haedt 781 41 37P I1as[g da T HA aTdl Bt GoT Wi gl a1 o1 wa
& STerars A AR & HTGT AR A1 §HS el Al 61 $UST, S0, THgY, Beifer, dew, Seffrafer, fifdr o Mo swgie & «ff o firerar am
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ITAdT el THdT AT TR ™ (TdddRYed & Sigls] Hileld ) + 1887 H Yh ¥d [P UT| g Xd & Hdlldd cg-1 H 10 I < IRTd Y| g I XHHY &P <lq- Dl idiql
BT 91 fa=Ta ATl

UG T BY UGB AR T T U BT IR AIET
U: 1870 S TS H de H sruRIird) o e feat d
1. 10000

2. 50000

3. 11000

4.20,000
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« 20,000

17) TEY 39 W B Hgd ¢ el Wi i frarelt #f Hi 1 1S i 781 €11 81 59 WIe o1 Sae ga-1 Sifie g7 o 5 3o o onfife nifafafim <t
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BR T & DRGF] § STH T ST UL | ) J M G STUATRIG) & SR eI § SATAR P AT IUF 81 TS| 59 @) B thaed) 1 TH1Y B aRE @ Sarg
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ST TREIY B U] A T Y U T IR 99154

T S wife & B oz ag W erftrei ufind 3w frw whawr ¥ 22
L. PE
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3. TRE

4, ARG
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18) WY IW RIM F T5d § 761 Wq@ i frarell F $ &1 $1E R 7Y a1 §1 919 Hisi 1 Saure a1 i 819 o 6 Iwdt o anfife wfafafied <
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ATI B ATY A1 1750 S T STS 3R ded F o3 A § A T i de A el UT| 9 U 981 MR U1 58] & S-S 675,000 Hi1 1810 § 1880 & &1
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BT 91 Hfa=Ta ATl

ST TR B UgHR - T T Y= 5T Sk adT5u|

WRA: T 1750 Y M1 570 &R Ied & fobat iy diesT # g A2

LA TH

2. AR TH

.Y TS

4 IRAITH
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. AT
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19) e 3 AT Pl ded & el HHHE ATTAD svTTT H PIH DI plig KT el gldl &1 vid HISTH PT Sl gd-T Siidd g+ </ T 37T A TS ATdIdIdgT i
Tad Rrem o a) ek ST IS gl e gA%N @ B i) BT $% g B4 €; S I 9T, T o, San 49, anfife dwim ok difge
nfafaRai| sieifie ity & o que ag i st uifeh 3w arho uitdw are € A1 RT3 1o % sieifie wed § e ard aifteiwr o awior 861 @
YeTa S AT A1 1750 34 A 30T 3R A0 F &= 1 # A U e <ie=T § 81 U1 TS U 991 X6X AT STg! @i S 675,000 11 1810 ¥ 1880 & €i¥
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P 7 59 e | WU 20,000 TRTER T8d A1 oM AN 1 ISR T e urar o1 39 F B B Hid SRTY B3 A | $E 9 gg Y g o fr feeit
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ord gt & oY A HipT SR B B WSIGR ST USTI H% Afganaii ¥ guv Sl & Rl 1A wR i wR 39 3% fvam1 &% e a=if &1 3% Wi 919 gRT B9
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B I B! PREF! § DT T ST US| Tidl § 319 Tel SIATRIYT P HRUT WG H SATAR D] AT S &1 TS | 37 @il P e U1 gH Y Bl avb 4 6
T gl 78 frerdt o gu (Rievge & siee wiftre) A 1887 § v wd fovam| 59 6 & gaifas e & 10 9@ 9 TRI9 41 98 39 999 & de o mardt
P11 wfo=ra a1

IUY TR B UGB Y T T 7R HT IR qas|

W= W RIas F R e | o1 a9 I g

1. ATSfhel Td et

2. BR T4 ZAfdedd IIG

3, MAL-IREG

4. dg SR Tl
Correct Answer :-

« PR U4 A d IAG

20) TGRS RIF $ 54 & a1 WG@ i frarsif § $i o1 $1E R 7 g1 81 519 1S 3T Iure- 3071 31w g @ 5 sad o= sfdfe afafafir ot
TR e At et T e gl WeR TAN & TS AR 31 5 go Fa §; S werifoe ww, yRe s o, I A, aifife gwig ok dfee
nfafaftrat sieifire wift & F§ que arg Wt st ufindt 2r amfor ofvdwr ara 6 41 fke ¥ 1o % sienfie wrewl & w arar st sk amior &t &
YeTa HYe 3T A1 1750 3T 3T §704S 3R 30 F &% 1 7 Q@ U sy wig=T A 781 UT| e U 991 X6 UT 5Tg] @ SIEE 675,000 11 1810 @ 1880 & i
T B 10 UG A I¢BY 40 G Bl TS; Haed IR T 6 TS| we A D15 g1 thaed) 781 W1 SHS qravlg vie Uara- B arel ® 4T HisTe gl ST Tl de
%sﬁmﬁﬁﬁw%mmﬁlsﬁmfﬂﬁaﬁm,@,m,ﬁh?,ﬁw,gﬁﬁuﬁn,ﬁhehmégﬁ?ﬁmmmm

T 3y T (1914-1919) F IR de & TR SR FAfeaa SwTel 1 971 e gl S99 e H 98 $REF! 3 YF3T 5§51 $O 99 dlae F a1, et o
AR & P SHGR1 BT U [A8TS 57 93 PRETH! | His[g 47| e Mex I AHR & qgiast & 01 ggi orov1y § 1 ggiadt g51 U o & SaKR 1870 &
IR W 59 e § TIUIT 20,000 SMRTEH 384 A1 o ART F1 AR &1 firer urar o1 399 A FF B Al RIY HI WA A B aR g8 f ghar o1 i iy
FREM § FH 397 W BT $IA P TG AURIY BRP Jga¥ SATS 51 ot A1 T & SR % wfigansit 3 Aot oot 11 Teft afearsht S o ToR SR s &
R ol & T § A1 SR B Y WO B USTI B Aienai A gk STHT & R ST IR T WR 3 1% ka1 € TR =it 3 9% WY a1y gRT B9
TR ara S O T a1 11 SUP 91g 1870 F HrIeH TSI Tae U g3 3iX 1902 # thaedl Uae UM §3iT| 571 SIH) @1 Hae § Te giifda fear mar i
BIe T=i B FREF! § HTH T S TS| Tial § 31 aTe STHETRTE! F BRI AL H AT 3T TATT SU7 81 T8 | 37 Gl DY et U1 aHT B R § Smarg
F gl T8 fredt i e gy (ravge & wee wifs) A 1887 & v w4 fham| 30 9 & gaifad e & 10 9@ 9 TRI9 41 98 36 G99 & ded o ardt
BT S ia=ra Al

ST TR B TgHR -1 T T U= BT Sk Iyl

R f3eT ® I & Siieifiie wesl § g arel S ier | $El @ Taras S 3 A

1. Ao &85

2. ofyeft S 9

3. SUFAR ¥

4. W R Y
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. mfior &

21) ER W W 1 HEd & wiel 4T oM frarai & $Y o1 B R T8 giar 81 919 IS 371 St a1 St g1 @ & I arg enfife nfafafimy ot
TaY et o Y 2e<) BT [IBT gl XeR T A B3 AAIRIGT BT 5k G D & O eI T, e is @, SanT 4, uifife dwid ok difge
whafafirat| sfieifie Hifa & % gue ae ot st ufid 3 arfion afvadwr a6 41 e 3 3o & offenfie wresl # e are siftrisr wivT amior &5 &
I B AT A1 1750 ST 3T 5704 3R o0 F o3 A1 § A U ol daT A 75T AT 6 U 991 6T 4T Saf & S 675,000 Ft1 1810 & 1880 F &iw
WS Pl 10 TG A TGP 40 TG 8 TS; Ad0d IR T 81 T8 | dia A DIE 78t thaedt T8l A1 5TP I1as[g dia Tam- $- ardl Bt YeT Ui g1 Hear 4Tl da
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TuH fay T (1914-1919) F IRM ded # PR $iR saifacda SwTa! o1 I7-1 Y& golll T Te H 93 DRAH! 3 YoHTd §5 | $© 99T died & a1g, ded §
R & Fd SGWRIT BT U [AgTE 37 98 FRETHI § HiS[g UT| e e P MHR § g¢Iad] & 1Y Tt w1y § +ff 9eia’l §51 TP oA & 3R 1870 &
2% | 59 XE¥ | AU 20,000 R T8 A1 o ail &1 AonmR =181 Frer arar 41 S99 A 3% Bie Hie SURTY $RA O A1 Hs R g off giar o1 i foedt
PREM T BH Iq T BTH S P ToIT URTY HEh Aga< DHATS 61 oiial NI Tk P SR S AFaral S Aiepdt geit 751 Tefi Afearsii ol 3u=r ToR ¥R S S
forld g1 & WY | BT R T B TSGR ST USTI B3 Afearail ¥ guy St & ford o1 1R fad W 31 315 fovam | o€ e s=ai &1 399 A a9 g1 9
TR aTd ST O @ 30T 7| IS 91g 1870 F STt TP TaE U §o 3R 1902 F Saedt uae Ui goir| 37 ST 1 weg § g8 g far i
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1. Ieikd

2. AR

3. aftfem

4. e

Correct Answer :-

. da

22) WER TG W B Bgd ¢ oiel THE ife frarel & i o1 B1% WU 7 ST 21 51d HislH &1 I sa-T 3iftres g o i 39 o anfife nfafaftray
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o SRY
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. ®3 Tiafafal & g

24) TER I RIF $ 54 & o6l W@ i frarsif § $i o1 $1 w1 =1 giar §1 519 1o &1 Ieureet ga= st g9 o & Sud o anfifes aifafafin ot
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nfefaftrat sieifire wifd & $$ gue arg Wt st ufdndt 3=r ameforn ufvdwr ara € 1 e § 1o & shenfire =resl & w7 ara st avr amdior 85t @
AT B T A1 1750 STd 3T §7ds 3R 9 & &R At H A U aafe de W TgaT 311 b U 981 6% 41 9T &1 9+l 675,000 A1 1810 F 1880 & o
T B 10 UK A TgBY 40 G Bl S; Haad IR T 61 TS| e A DS gt thaedl T8t F1 59 qrav[g da UaTas B4 ardl B 4T wivreT gt St Tl e
%amﬁﬁﬁw$mwmswa{m?ﬂ??nﬁ'ﬁm,Fﬁ,mﬁﬁ,uﬁﬁm,ﬁm,gﬁﬁﬁuﬁﬂ,ﬁﬁﬂaﬁ?ﬁﬁtmé@?ﬁﬁhmmw
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HYH 1Y & (1914-1919) P ¢RI tied H PR 3R gcildgdcd IcUlgl dl d--1 e gl [ ded H dg PRI P1 [ 3HId g | P& AHY didd & dig, dg1 H
JASHTR & P T DT U [AETS 5 98 RG] A HIS[g UT| T Mex P SR 7 931a) T 914 Tei w1y § 1 eiadt §51 U S & SJdR 1870 &
=16 W 59 TR W TIUIT 20,000 SMRTEH 384 A1 o AR 1 AR 1 Frer urar o1 399 A $5 SIS HIe 3RTY H3 W A1 F aR g8 1 ghar o1 i iy
PREMA B FH Iq- IR HTH $I B T AWRIY HIb Jgar PATS of oiral A1 T F IR o5 ARRarsit Ft A welt 751 Wit afzameil & T ToR SR & &
o gl & wY A epT SR B B AoTER T USTI B AiRTre ¥ gay Bl & R 3o W R W 31 g Al v e =il B 37 A 419 gR1 BH
TR I ST O T T 7| I 91 1870 & FHUcHR) TSI Tae U §aiT X 1902 F Tt vae U gai| 9 ST @1 #ee § 98 gfde fvar mar i
DI T B! DRG] § BTH T BT US| Tl § T aT SUATRTGE) S SR UG § ST 1 FHT IUF 81 TS | 57 @lvi1 Bl el I TH1Y Bl aRE & Sarg
aﬁﬁmﬂtﬁﬁaﬁmlmﬁqa(%m%mmﬁﬁ)%1ss7ﬁ@ﬁM|wﬁ%gmﬁwmﬁmmaﬁnﬂa%wwm%mﬁm
o1 St wfe=ra a1

UG T B TG A7 TR T A BT S&R IS
UR: TR TS Uae 5 3R thag! Tae od U gai?
1. 1890 3% 1852

2. 1870 3R 1902

3. 1880 3R 1872

4. 1885 3R 1905

Correct Answer :-

. 1870 3R 1902

25) WG IW RIM &I $gd § el T A1iF framst § $ o1 $1E wir 781 a1 81 519 Wit &1 Seure gan siftre g1 o 5 39 o anfifes wifafafird 5t
TR e @ oY et T T gl WeR THR & BE IR 31 7 gor wa 8 SR werifie ww, T 67, Iei 4, aifife s ok dfew
nfafaRtai| sieifie ity S o que a1 1 aiftreiw ufdeh 3w arho uidw ae € 31 R 3 1o F siaifie wed § v g aiftei o arhor 8657 9

T B 3T A1 1750 ST 3T S0 3R aed F & A1 # A U oafad de A T8l 41| 9e U 931 X6 4T STg] & -6 675,000 411 1810 | 1880 & &1
WS BT 10 ARG A TFBT 40 A B TE; A IR T 81 T | 9a § DIE 7t haedt T8 Y1 59F 1as[g da T $4 aTdl Bt YOI Hivd gl 3T AT wa
F STHATS T AR & FTW! AR | FAP S(TTGT AN B FUST, T4, APal, BeilaR, Aed, Sonara, ﬁﬁnaﬁﬁﬁaﬁéﬁﬁ?ﬁmmhﬂmml

W Y G (1914-1919) & GRM ded # SR R SARDH T IcaTel ST a1 o gITl 3AA da # 98 BRG] &1 oA §5 | $© 7Y diaq & a1, e &
AR & Fd TR DT U [A8TS 37 98 RG] A HiN[g 4TI T e F AMHR 8 qgast B 01 el a1y § 1 q¢iadt g5 1 U 3= & 3JaKR 1870 &

I W 39 WER H T 20,000 MR 354 A1 M RN 1 ISR 181 et UTaT o1 396 A 3 BT AT 3R $I9 94 A1 6 aR g8 1l giar o1 i foly
mﬁﬁm%ﬂmmmﬁaﬂmmuméwmﬁmzﬁlg&'%aﬁ?ﬁaﬁu%maﬁﬁﬁﬁmﬁﬂélQ?ﬂﬂ%maﬁﬁmwmmﬁas
ford Rl & 7 A wliopT TRl Bt BV ASTER 1T USTI BE ARATS ¥ gHY Bl S R 301 R R W &1 3 a1 v 1 =il Bt 37 A 919 gR1 B9
TR 9re BT U= 0 T 7| S 91 1870  Sreas) TSR Uae U g3 3R 1902 # thaedl Uae U i1 399 BIHI @1 Hag & ug gf+ifia fovar mar i
BR T B! SR § BT T ST UL | Tl F ST Gt AISTRIG) F FRU R F ATAR P GHAT IAF 81 TS| 59 @) B haed} 1 THT B T § Sarg
aﬁgﬂ;waﬁﬁmﬁzﬁlmﬁqu(ﬁmqﬁ%mmﬁmﬁ 1887 ¥ U® 14 b1 59 Wa & Gara® ded # 10 TRG AT TN A | U8 I THT & Ted Bt smardt
1 ah ufa=ra o

IUYa TR B UgHR A T T YR BT IR aq15|
U: T W FEI T FA & ¥R e &2

19SS

2. SiPaS

3. 39

4. P

Correct Answer :-

. SlFas

26) EY I RIM $I Hgd § 61 Y0 A1IF framei § $Y o1 $1$ R 781 ST 81 519 WIS 31 Seure a1 siftre g1 o 5 39 o anfifes wifafaftrt 5t
TadA e o al WER) BT ARy gl R gH | B3 nfafaftml o1 $% g d §; S oo T, e o9, 99T 49, anfife s ok difee
TffaRtai| sieifie ity & o gue arg ot aiftreiw uftEh 3o awho uidw o € &1 R 3 1o & sieifie wed & teq g erftei o arfor 851 9@
YATaT S A8 A1 1750 3T A ST 3R I & &% A 7 9 U ARy wia= H T84T UT1 §e U 97 e UT 518 & SIHEET 675,000 11 1810 ¥ 1880 & €9
WS P 10 ARG A TIBY 40 AE E TS; Adad IR T 81 T8 | die A DIS 7t haedt 781 41 37P Ias[g dia Ua HA aTdl Bt YT Wi gl a1 ATl we
& STaTS A AR & BIGT AR V| §HS el il 61 $UST, 4, THY, Beifer, Few, gentrare, fifdr o 4o swgie # ot o firar an

uwﬁqg&'(mm—mm)%aﬁvmmﬁmaﬁwsﬁ%mmﬁrmmmg&m T e H 93 PREH! &1 o9Nd 5§ | PO T Sia & a1, g 4§
IR & P AT DT U [AeTS 57 98 RG] | Hiv[g 47| T e P ATER & qgiast A1 Tgl a1y § 1 a¢iat g5 1 U S & JaKR 1870 &
2P T 39 WET H AU 20,000 R TEa A1 forT @ B AohmR 1 FYe urar 41 399 A 3 B1e HId RIY I I A1 B3 9 gg Y giar ot 7 et
Wﬁm%ﬂmmmﬁ&ﬂmmnﬂéﬁ?mﬁmzﬁlga%aﬁ?ﬁaén%maﬁﬁﬁaﬁmﬁnélQ’eﬁn%maﬁaﬁmmmmﬁ%
ord gRl & oY & WopT TR B3 B AR ST USTI BS AiRATS ¥ gaY Sl & o 30=1 R R W 31 © [ o 789 a=i S 37 A 919 §R1 5H
TR 91 SR IR a1 39T 77| S9F d1g 1870 W HHUH TP Uae URT §HT 3% 1902 A Hraedl o U gl 571 S 31 Hag A 98 iy fvar mar
Ble I B! PREFT § BTH T ST US| Tdl § T Tel SMUSTRIUT & HIRUT ST | ST 6] AT ST 1 T | 37 Al B thaedl T THY &) avE § a9
ﬁgﬁ;wqﬁﬁa?ﬁzﬁlmafqu(%am%ﬂﬁm%)ﬁmmﬁmﬁﬁmlsﬂﬁ%mﬁmﬁmﬁmm?ﬁﬂnﬁaﬁlﬂ?ww%ﬁa‘—raﬁm
BT ST fa=Ta ATl

SR TR B TgHR -1 T T W= BT Sk qd15¢|
URA: ¥ 1750 § ded 3t seen feant A

1. 345000

2. 47500

3. 575000

4. 675000
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Correct Answer :-

* 675000

27) TER 9 RIF T 5 § oIgt 9q@ e franelt § i o1 w1 w1 781 g1 81 919 HieH o1 Icure 31 e 817 o 6 S99 o anfife aifafafir o
THA oo o oY <) BT [P gaiTl XeR TR S AATIRIGT BT Pt §I DA & O ol TT, W= o, SanT 4, e dwird ok difge
nfifaRmi| e ity & o gue a1 ot eftrei ufieh 3w arfio oidw o € 41 RT3 1o ¥ <ieifire Wi § w89 9 erftreir < anfior a5t 9
qeTa S T8 A1 1750 3T 3T §704S 3R 300 & & N 7 v Ry wia= A TgaT UTI S TP 997 X6 UT 51a] @ SIHEET 675,000 It 1810 @ 1880 & diw
e B 10 UG | I¢HY 40 G 8l ITS; maﬂﬂ’fﬁ'tﬁnélmﬁ@éaﬁmﬁﬁlmwmwmﬁmﬁaﬁa@m@nmmm
F SIHUTS T AR & HIW! AR Y| 3D AT ANl B BUST, 9d, Adst, B, Hed, o, fifdr sﬁ?ﬁﬁlﬁg‘gﬁzﬁoﬂmﬁaﬁm

T fay T (1914-1919) & IR vied | SR iR saifdeda SwTe! o1 T4 I goil TN de A 93 FREH! 3 YoTd 55 | $O 994 St & a1g, de7 &
FISAIR & P SHGWR| BT TP (98T 57 98 RG] | Hiv[g 4Tl Te ex P ATHR & ggiast & i ggl oruvry § 1 ggiat g5 1 0P S & SJaR 1870 &
216 § 3T 1ER T TIUT 20,000 SORTeR 3@ A1 o AT B AR T Firer arar o1 399 A $5E Bie Ui SRTY 1 aa A1 F aR g8 ot ghar ot i iy
PREM B FH IqT IR STH $I Bt IO JWRIY HIb gk PATS &1 oiial A1 It F SR B3 Afganait 1 A<t aeht 751 Wit afgamell S 1 ToR SR &1 &
fRrd g1 & WRY # BT a7 I B AR BT USTI B ARvarail ¥ go¥ Sl & R A1 TR i W 31 g T &€ e =il @1 371% AT 919 gR1 $9
TR aTd ST O T 30T 7| I9F 91g 1870 F IR TP TaE U g SR 1902 F Saedt ae U gorr| 37 STl @1 we § g g far i
BIe T=il B BREM]T | BTH T ST TS| Tial § 317 aTel STHArRya] $ SR AT F A P THET IS4 81 T3 | 37 6l DY heedt 1 aH1T B R J Sarg
aﬁgﬁ;mqﬁﬁaﬁ!ﬁlmafqu(ﬁmqa%?mmﬁiﬁ)ﬁ 1887 ¥ U® W4 411 39 Wd & Harlad de- # 10 TR AN T8 A1 Tg S WA & T I MTaTdt
1 4R wfar o

ST TR B TgHR -1 T T U= BT S} T3¢
u: T 9 &1 IcuTe e & 2esl &1 fae gane
1. o G

2. Fad Aig-ASa

3. $ad gy

4. I0gaa Tt

Correct Answer :-

- Iugad wit

28) G W WM F1 H5d ¢ ool WHE o frarelf & P o1 1 R 78 giar 81 519 4o BT Ieure gaT S g1 o s S e onfifes wiiifafirdt @t
FHS FAE o Y SR BT RAPTH golT1 WER THR | TE AT 3T H5 T PRQ § SN WorTad 1, TR o, I 4, aifife TRt ok dfee
nfafaftrii ei=ifie wify & $3 v a1g Wt aftreizr ufindt 2zr arfor ufvdsr o € 41 e ¥ 9 & sienfie we?l @ 389 ara aiftrei=r &t amdtor &Y @
AT S AT A1 1750 3T AT §704T 3R 300 F o= 71 7 & U KT o A 78T Y11 63 U 991 WER AT 5lg] B =4S 675,000 11 1810 & 1880 & &l
W Bt 10 TR A TGBY 40 IR B TTE; quﬂﬁs‘m‘s‘lmﬁﬁéa@ﬁmﬁqﬁzﬁlmwmwmﬁmﬁaﬁwmgmmmm
F SIS T AR & HIW! AR V| FHD AT Al B BUST, 9d, APSt, B-raR, Hed, o, fifdr aﬁ?ﬁﬁms@?ﬁaﬂmmzm
uwﬁ’gga(1914—1919)%mmﬂwmsﬂfﬁmmmmm@mmmﬁ@mﬁtaﬂnﬁmgﬁlwwaﬁaﬁ%m,mﬁ
IR & T G 31 U (5T 37 98 SREMI | HiS[g Ul e e & hR § geIad] & 1Y Tet oty § +ff 9eia’l §51 TP AT & 39R 1870 &
21 § 59 e A TWIUT 20,000 SORTel 354 A1 Ror AN 1 AR 1 e rmar o1 399 A $F BIS 6T 3RIY $1 Wa A1 B aR g5 o ghar ot i faiy
PRAM § HH I T B I Bt G117 AT PP gk DATS &1 STl 41 Tog P SR B8 AfRarsii Y Aot aett 71 Ieft afarsii S 391 ok TR HA &
ford gl & oRY A HipT SR BRA B TG ST USTI By Afgansit A guR Sl b Rl oA R i wR 3 3 framt & 18 9= B 9% 01 919 gR B9
TR aret S U= A T T S 91 1870 # Breasl THS R Uae U g 3R 1902 # thaedl UaT U™ gl 39 Sl &1 Hae & T8 qfifya fvar mar
BR g & SREFE] § STH T ST US| 6l F 31 9T SUETRIG) & SRR F AT P GHRAT IUF 81 TS 1 59 @) ) haed) 91 91T &) aRE @ Hag
aﬁgﬁ;mqﬁﬁmﬂzﬁlmﬁfgﬂ(ﬁm@%mmﬁﬁ)ﬁ1887ﬁ@ﬁh|waﬁ$gmﬁ$mﬁmmahﬂﬂamu‘::a‘qm%a‘aqaﬂm
P1 S wfera ol

I TR B UgHR - TR T Y= B S} qa1sy|

U: T 1810 ¥ 1880 919 ded &1 G fha I g ol g1 152
1.5 TRE 9 10 AR

2. 20 WG 9 30 G

3. 10 TRA 9 40 ARG

4. 40 TG H 80 T

Correct Answer :-

. 10 9T ¥ 40 ARG

29) WER I RIM &I $gd § 9e1 4w A1 frarel & P o1 $1E i 721 €1 81 519 i 37 Seure a1 Siftre g1 o 5 Sud o anfifes wifafaftrd ot
Tr e o a) UER) BT [ADT gl e AN | B3 AT} BT H% gl FId §; S eI T=T, TRt~ oF, SanT 49, anfife dwumi ok difee
nﬁrﬁﬁmlaﬁ'ﬂﬁﬁmm%aﬁmmmeﬁﬁmuﬁiﬁhmuﬁﬁwaﬁﬁm&éﬂﬁm%&h@ﬂﬁﬁmﬁﬁmﬁmﬁ&fmmmaﬁrﬁ
AT B AT A1 1750 ST 3T S70E 3R o9 F g3 AV § A o aufer de=T # 5T UT| 6e U 931 e U1 5181 & 9= 675,000 Ht1 1810 | 1880 & &t
W B 10 ARG A TeDY 40 G 8l S; Hawd IR T 6 TS| e A B1S a1 haedl T8 1 5P qrav[g die UaTas B arel B g ST gor St oTl ded
a?s‘mléﬁm%muﬁmv)lgﬂ%ma’rﬁaﬁm,qﬂ,aﬁﬁ,ﬁhv,ﬁza,ésﬂﬁuﬂﬂ,ﬁﬁnaﬁ?ﬁmqggﬁ?ﬁuﬂmmmm

"W 39 = (1914-1919) F SR de § BR &R FalFedra IS BT 991 T gl 3N T & 98 PRTUM] 31 YETd 85 | $© IAY a7 & d1e, b &
IR & P TR T TP [a8TS 7 98 BRG] # Hivlg UT| T e & TR § ggtas! & a4 781 a1y 7 N 93! §81 TP SgAM S 3IaR 1870 &
%16 § 39 31eR A TIUT 20,000 SRR 3gd A1 ForT AT 1 AR T8 fe urar 41 399 A 3% BIe e R H WA A1 B aR g8 ot ghar ot 7 fai
PREAM W FH I W BTH $I P! oY WY HIb Jgdk HATS 81 oial A1 T & IR B3 afganai $1 st gt 751 T afgamaif & oo ToR SRR B
forl geri & oRY A i1 SR BRA B TSGR ST USTI s Afganail ¥ gk Sl & Rl oA 1R i wR 391 3@ fram &€ i T=if 61 3% 1 917 gRT 9
TR 914 S R T 397 7471 I9S 918 1870 H HHIH) TSI Tae URT g3 3% 1902 7 thaed Uae T g3l 371 I 3t Heg § Tg e fvar man 5
B T=i &) BREMT | B9 T ST UL | Tidl § 317 9Tl STATRE] $ BRI WG H A P THET SUH 81 T3 | 37 6l DY heedl 1 aH 1T B R J arg
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ITAdT el THdT AT TR ™ (TdddRYed & Sigls] Hileld ) + 1887 H Yh ¥d [P UT| g Xd & Hdlldd cg-1 H 10 I < IRTd Y| g I XHHY &P <lq- Dl idiql
BT 91 fa=Ta ATl

UG T BY UGB AR T T U BT IR AIET
UH: e WER BT AR 934 A 5w 9w & adiadl g2
1. 31

2. 3dled

3. WY

4. gIdrAnd

Correct Answer :-

o SIRTY

30) TTEY 39 WM FI Fed & Wel W i frarait F By o1 $IE W 76l a1 & | 91g HISH BT Sete a1 Sifte 81 o % I o enfife nifafafiml &t
T fore At <reRt @1 R gon ! e g & v afafii o dx gen wva € 9 et @, wRrate 9, seh 99, aiffe el ok dfge
wfafaftrat sieifire wifa & $$ gue arg Wt st ot 3=r arefor ofvdw are 6 1 ke ¥ 1o & shenfire wedl & @ arar st wivT amior &sf @
AT B% MY A1 1750 STd 3T $70S 3R 9ed & g1 At H V U oafad da A gl 411 9a- U 981 X8R AT Wl &1 9-RieT 675,000 41 1810 | 1880 & 9
T B 10 ARG A IEBI 40 TG §1 TE; HaAd IR T 8 TS| e § B 98t haedt T f 1 59% Srav[g died UaTas B arel @Y YT HivreT ga ST Tl wed
%ﬁmﬁﬁﬁw%aﬂuﬁmmsﬂ%m?ﬁfaﬁm,qﬁ,m,ﬁh?,ﬁm,giﬁﬁuﬁﬂ,ﬁﬁwaﬁvmggﬁ?ﬁ%ﬁmmw

T f3y I (1914-1919) F IR ded § IR SR AR SdTEl 1 371 e gl THY 9aT H 98 PREUM! 3\ YH3ATd g5 1 $© 994 d1a F TG, de
ISR & P AT BT U [d8TS 37 98 SREIHI # His[g UT| T el P SATHR & qgias) & 1Y Tgl w1y § W Ieiat g5 1 U S & SN 1870 &
216 ¥ 39 TeR H U 20,000 =T 354 A1 for RN B AR T e urar o1 399 A 3E B e SMRIY $IA @G A1 B aR g8 o ghar ur i foai
PRAMA § HH Iq7 T BIH I B T WRTY P ga< PATS 81 ord! N1 G F IR o5 wleare 1 e aeht 781 Tt nfarsi &) so1 eR TR A F
R gl & w31 A i1 SR+ B B TSI ST USTI BE Afganail ¥ g F S R 3w W R R & 3% et ¢ 18 a=il B 319 41 919 gR B9
IR are S U= @ T 71 39 91g 1870 T HrTHI) TSR UTE U g3 3R 1902 # thaedl Uae U gl 39 SIHi 31 Hae & ug gifya fovar mar i
BR T & DRGF] § STH T ST UL | ) J M G STUATRIG) & SR eI § SATAR P AT IUF 81 TS| 59 @) B thaed) 1 TH1Y B aRE @ Sarg
ﬁgﬂ;wqéfﬁmﬁﬁlmﬁqn(ﬁm%mmﬁlﬁ)ﬁmwﬁwﬁﬁmﬂwﬁ%gammﬁmm?hﬂnﬁaﬁlme%ﬁaﬁﬁm
o1 91 wfemra Tl

ST TREIY B U] A T Y U T IR 99154

W TIEX B v i frarell § Rewet dree A grar?
1. PR ER

2. 3T

3.

4, HMOR

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y ZelesTd 5T THNT: AT
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Correct Answer :-

R

4)

[N AN oS d
JI=Sa Ulocdl URAEY %I)i‘;\dj)cd‘l Qdd -

AN

oG TH 3eAd | Seel: UhIel: dfegerl | AfegdRT: ST, ﬁﬂaﬁr
3R AT | AT e ey T add |

GIET Ueprel: TGhi: | faem: U U | 3 W& ofeTd
TR | 3d: fider: | deg: ofF IR: vefaol wUfd | The ARG
Tqcqul #afd | OTART deaed foFad AREd #afd | da: fed foet
&fgd fae: | der PeoTaeT: siafd |

Tog & WIShell: Hiod | T8 Hode goife: MY agfd | 3/ &
Togd@: Sfa UfAg: | HERIAR™T JogEd o BT el T 6T |
Yel: OfdUeRed AU F: e | der UeFeiver: sdfd |

Tog: FA: T GLAEIET ¢d aAF | §: TRl A=A18AT SPellell chdagN
Teafd | I WY FH Pafed I aFT AT eafed |

Seq: hal 36Id ?

i
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SIGE

, AT
,

Correct Answer :-

aR=Se afscdl ey YgdHc JaAd -
9 ARACY HadeE: | d¥Ad 99 AR T | A GEpid:
ARAIIEERTA: | (AR ARAFEERd: 3G e | 38T Wil
AGTY: dredAiien: |

UMTRATT GURIGT 9T 3RATear | aF gIaeia: gl A
TSl A | T Forde: IRASS: FACHRT FHAeA: IR/ | GRAET
fae: o 3= | dRT HiFedr, YA, Hehdl T | eI o
A | FEFORMEA FIATAT: Tl | SR HiAToTT AT Al
hehdl |
el T THAEHUN ATTILAAIT T8 IPRET0N Iefd 3RTaddH | dF
dt dreer- GeTg- elcile] V&I HARTA | ofct: Aa: Raard fBecar
Ararar: qifoEgore 3add |

O 3T AR HIATAEHOTSAT g I 3PTeod | 97
3TeiehTlel ShSCliel 3easidd | TGUT: HIdE U | HidedToae
goftaey FA1A sreTd | GllaeT Tl UREcT Yeol: Al vore,
3 |

AH: & fHccar diaram: qforrgoE 3 |

2.
3. o

4.

Correct Answer :-
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7)

TR=oe ufSaar ueaed Q:I’&Qd:j’cdi AT -

Soq: Tl 3T | Fear: TN Tlegdr | Alcgehrr: ST, Hledid
I AFHAT | AT T Eelgdd I add |

AT geprel: TGh: | fqel: geen: ORI | 3 W& ofed
TR | 31d: Afider: | deg: ofF IR: velaor wUfd | Tdhd A
TdAcqul srafd | QORI Woadd f9ee#d 3Red #afd | ad: e foet
&fgd fae: | dar PeoTaer: safd |

Yog g NISerehell: Hicd | OET Holdehl eoife: MY agfd | 3/ &
TogAW@Y: 5fd UEE: | IHANERIRT Toged o HIT dell T IET |
Uef: ITAUGReT AT F: Iéd | daT UFelvel: &afd |

Tog: G T TORIET ¢d aF | §: VAT AT ATl STaER
TRIfd | I ;Y FAH Hdled o avg AT sidled |

hET YehIeA: TIhIA: ?

TTET
q=:

D)

4, O

Correct Answer :-
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IRTde afScar 9oy YgHc FaId -

Soq: AN 3T | Seal: UhRT: diogdl | diegdrdl: SACE, Plecifd
3UX ATHAT | AT fdell FEGRhT T dad |

GIET VeIl Th: | Il Geprer: Wb | 3 @ oAeTd
TR | 3cT: Sfider: | deq: offF URA: USf@oT wAfd | Tehd AR
Tdcqul safd | qioTART Weaed f9eed 3iRed #afd | ad: oo faa
&fgd faY: | der PHeoTaes: safd |

TG WISerhell: Hicd | T8 Hholdeh Yoife: MY ggfd | 3/ &
Teg@: sfad Ufdg: | AR JogEd o SIU ol €2Id IET |
Gof: ITAUGRE A0l §: qefd | der YeFerver: sfafd |

Tog: FA: T GLAEET ¢d oAF | §: TRl SA=A18AT STellell N
7RI | F WY FH Pafed o T AT efafed |

[d a\ NN
YIddoal & a9 ?

<

1.

R=]

2.

; HEIET

Correct Answer :-

| HERET
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IRTSE gfScar YT YEHH I -
9 AR fHa@e: | dFAd 99 SRR T | 3EA GEhid:
ARARIEEP(d: | THRUT ARATHEhA: 3R Tl | 3T Tl
AeMY: aredAlfs: |

AR GUileT w9l 3redr | 9 gaadir: gerel #re
TSI SR, | T SHoldfe: aiass: IACaRT HAeT: A | A
fae: &M 3] | drRg Sidged, Qjﬁﬁ'an FhAT T | HIGIRT: qd:
ARTE: | FEATREEA FIAAAT: TAd | SR HATSET sRATT AT
hehdl |
dTed Ug TAGGAUTT ANTIEfAAUT T PRGNS doi# 3eeadid | dF
ot drCehr- [aTg- el TETHI FARTAE | Tt AN fRigard faicear
HIATT: TOTIguTH 3Rl |

fq: 3merar A AATTeAvTedT T8 o 3PTad, | aF &
3eiohlfel HSClel Hoasidd | TAUT: AIdH U | HidedToTaa:
gflary FAIH 37ereTd | llaey TAEAT IREcT It WIdledTorH,
3T |

SR Hfd TR ?

s>

4.

Correct Answer :-

9 grr: 1A A T sTata ?
, SF1 A
JRELCERIn)

Correct Answer :-

BNEC K]
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7 oot afdear senfRfiscra g YEHeR FaAd -
e T aray o1l fas a8y = |
el i et T A o |

3MEH AT I YT STeeol Terdicaanr |
TSl T gl Fecddr #Acl: T ||

THAT:" 3R I |
Fdad:
1. 2

Q -~

2.

ad:
3

G

Correct Answer :-
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IRTIE IS TRATT AN AT -

$og: TE 36Td | Fean GhR: dlegedl | Tieghrar: SIICET, P
W AT | GT fidTelr EdGHd T add |

GIET geprel: TGhRT: | fqeh: g W | 3 W& oed
UehlRIA | 3c: el | deg: fF URA: velfalol wUfd | Tdhed A
Tdcqut Hafd | IR deeed ford 3REd safd | oda: G fe
&M faer: | der povTaeT: safd |

oG & WISUehell: Fiod | T hellHenl goiie: MY agfd | 31d: &
Togd@: Sfad UfAg: | IHERIR™T TogEd o DT el Id 6T |
get: UfdueRed HACT F: Fed | dear YeFerdar: fafd |

Tog: FI: T WAEIET ¢d aAF | §: TRl 187 STedledl chdagN
TRIfd | ¥ WY FA hdfed d d&g TAm: safed |

HET YhIe: GLhIT: ?

* eeliet ufsear srNfAfEseEy yeaed e gaAd -

e fas vramdy o1t fas apey = |
Ay A gdlf 7 Jaeg = ||
ma‘?ma'oﬂ’r: Uooll STEAUT ToTUicetenl |
SeTeiTSl qoT Jedl Feddr Al T ||

3 Haeg A s1afd |
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3itwerH

1. ~

e

3, oH:
, AT

Correct Answer :-

1
2. N
3.

4. .

Correct Answer :-

9ol gfecar srenfafeseey yeaEy QA&Q&j’CdJ; I -

fae &= yaray ot fAe ey T |
cafaaeEdivy A adf [#F Jgaea = ||
3el AT IR YAl STEAUTT ToTafcaen |
STl AT gl Feddr Al THAT: ||

Cdlded: HIdd: <odl: |

LA

1. =

3tc
, 34

Tcd

4.

Correct Answer :-
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IR=ae gfecar U QA&SJ:I)C(‘IQ gaA -

oG TE 36Td | Seal: YRl dfegel | dlegoll: SAIcETT, ﬁﬂaﬁ
I AHAT | AT el Aeeghd I adid |

GIET UepTer: TOehId: | fqun: Uepren: UL | 300 & oI
yprRre, | A flder: | deg: ofH URA: VSTEOT HUfA | Thed AT
Tacqol safd | qiUART deaey forad 3Red safd | dd: e fead
&g fae: | dar HovTet: safd |

TG & SISeAhell: Hiod | T dhelldenl goife: A agfd | 31 @
TogA@y: s3fad Uihg: | JHAERAR™T JogEd o ST dhell €2Id &7 |
YeT: GIAUGReT HAUT F: Jd | AT AFervsr: safd |

Tog: A: T GLAET ¢d a9 | G: TRl SA=18AT STedlell g
TRId | T WY FA Ppdled d d&T OrAm: safed |

gfeger dreell add ?

L PG

2

icel
. efyarsom

Correct Answer :-

_ efiger

17)
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TRTSE IiScar URAET YGHACR I -
a9F HRACY fAq@#: | JEAd 9¥ ARART: T | A dEpfa:
HRARIAERIA: | THARIOT RARETDd: 3R deol: | 38T TR
AETY: gredifa: |

UrTRAET GUagT o 3ratear | aF e a1
TSl SR | T Folde: afAcs: AT FAA: IR | GURAET
faw: oama: e | dRg igedr, AT, FRA T | RIFedrT: o
ATH: | TEAVREEA FAAAT: TAd | SRAYAY AT sRATT ATl
hehal |
dTed TG TAGEAUT ATTIEfAA0T G PRG0N g eadid | dF
dl dreeT- Garg- Telcllel T&TH HARIAH | dc: AN fReard favcear
HIATT: UTOTEIguTH, YRl |

fOq: 3merr AR AATTEAOTAT g I 3PTTed, | dF &
A wecrfed 3feasiad | TGoT: Hid#H 3UELd | Wdeadyorad
IltaTg HAA 3TeleTd | GllarT FAEdT IRecT Yef: Aldleayore
3l |

A= derdt @l ?

RTTEHIN

1

| AEHOTITEAT
SRATEA

3. Bl

4. &

Correct Answer :-

| SIEHOTTEAT
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Rellhl fdcar SNfAICTCET WRaey YA FIId -
72T i Uchel TohUT o T2 ITTIeTad |

U GEYRRT T3 & o faeafd ||

o 8Tqd & ey aTcil §o=1: HLI & HeTd T8¢ |

AT SO TGAreo1ey faetrerehrel famdiagig: ||

TUchel ThUT TY: o ISid |

dUT:

1.

I

2.

dlat:

3.

31q:

4.

Correct Answer :-

BREE

P TRERA I Aleuideag: 31ed-
| TT+3ER

, A+3TA
3. X+
4, o+ =

Correct Answer :-
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geliohl UTocar renfafcsesT Ueaey %Aasdgcdi FIAA -

2T T Wehed TohUT of Y€ ITfAeIdd |
Tq EShROT {311 & of R ||
o 87d9d o I AT §3=1: LN o PG T |

T JEOT TgeAeoAey Faaterhlel fFaudIasig: ||

EGRINEIR) gl?;\: vareel Hafa |

JqyEcr

1. 2

forar

2.

hecal

3.

g

4

Correct Answer :-

02

4.

Correct Answer :-

07
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23)

Sellehl Tfdcar renfAfdscsd weaed YA JIad -

faear f&= yaray sl [ 969 7 |
g aEdivy AT g\t 7 Faeg = ||
3MEH AT IR Yeal STeof JeTdicatan |
SeTeTHl T gedl Feddr Adl: T ||

TEHA Headi Taear T safd |

=) ﬂ%cqwdlm Hia?

, 18
, 13

, 20
4. 15

Correct Answer :-

. 20
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9olihl UTScaT 3reNfafesceEd UeaTed %olaagcdi A -

72T f§ Tohol TehUT o T2 ATfctsTad |
T GRYHRT T4eAT & o Rt ||
o 879 & e aTdl §d=1: HLIN & HaTd ToC: |

2T IO TeAeeied faArerhrel faudiasfy: ||

Al faar et o fageafa |

Correct Answer :-

. &aoT

® oot ufsedr srenfafiscrr weAEr YEHA gaId -
faem = vary em2t @A ey 7 |
aaeEdiyey AT gat 7 Faeg = ||

3MMEl AT IR oAl sTeeofy TeTafceT |
STl AT gl Feddr AR THAT: ||

‘A UeeET 3odl: Tdgdrd |
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Rellehl GTScdT TNICSCET URAET LEH L A -
JAT T Tehel AhUT o T2 AT |

Td GEYHRT T4eT &d of Feafd ||

of 879 ¥ ST aTcT go=T: HLIM o HeTd To¢: |

T SO TgAeGAEY TaTerehler FAuIagie: ||

TY: el o TS¢: |

el

eellehl gfdcar srenfafésced weaed gHac Faad -

28)

2T T Uehed TohUT of YUY ITTASIA |
Td GEYHROT {311 & o feafd ||

G R ETAICECISINE ghidﬁ T PG TC: |

2T ISOT TAeeeTed faeArerehrel faudida«fs: ||

TGl : 3T Tafa |

_ RESINESE
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IRTHE TIScdl YA AGHCAT AT -
9 ANCed fdaamE: | dFAd 99 AR T | 3EATh HERd:
ARAIIEERIA: | THARIV] ARAREERd: 3R e | 38T R
#7eT: aredife: |

TR GURIGT 9RT 3redr | A Rt A
ST 3R, | TET Fole: IASS: ACART FHeA: 3, | SWATT
faa: s 3 | aRd Sibed, gfaar, Shdl T | PiFeI™n: gd:
A | AEHAURMEA FRATAT: Tl | GRAYAY HASSTT AT ALl
Hehdl |
dred Ug TAGGACN FAgfTaearf@aor ag Iereons g+ 3eeadH | dF
dl dTeel- GaTg- eiclle] J&TAT 3TARIATH | dd: AR Rigam faca
ArdraT: gIfoTagurH 3Taid |

Oq: 3merar AR AATIEATTEIT T o 3PTTad, | aF &
3TeiehTlel hSCliel edsidd | TGUT: VI U | HidedTuaa

goiae AR 37T | SRICEE: JAaEIT IREc geT: HIdTeaYorA

3 |

ARV AT TR—Ar &: ?

,. HATH:
3. ‘ :

4.

Correct Answer :-

Page- 39



qITESE GTocdT TRAET gHca A -
9 ARAGY foawmE: | A 9 #RANRnE T | A GEpid:
ARARIHERIA: | THARIOT RARETPd: 3T Teol: | 38T TR
7ef: aredifn: |

TR guider 9 3redr | 99 gaad: gt A
T TR | T Forere: IfATS: FACIRT Ae: AR | SR
fae: o el | dRT Higedr, AT, Hhdl I | HFeIET:
AA: | AEFHURMEA FIATAT: Todl | GRAYAY HiATSTT eATT ALl
hehal |
ded U9 THGEHUNT AgNTaeaifAavT @ IRRETONY g4 eadiH | dF
dl dTeehT- {eTg- VeIcliel T IARTAH | dd: ARe: Rigand faeear
Gramram: qIorgord 31Hdd |

Oq: 3merar AR AATAEATTEdT T 9o 3PTeod, | aF &
3{eiehTlel ShSCliel edsidc | JGUT: WA IR | HidedTuTaar
gIlaeg #FAIA 37ereTd | GAaeT Tl UREcT oT: AT vore,
3 |

SALAET dq: & ?

Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of astronomy, biology, physics, earth science, etc. is:

éﬁgﬁgggfmuﬁﬁﬂqaﬁgﬁnnﬁaiﬁaﬁu&uamﬁaﬁqm?aqmmﬁﬁhawﬁﬁﬁﬁﬁﬁﬁﬁﬁnmaﬁﬁﬂmG&aﬁﬁmmmmﬁéiqaﬂﬁﬁna

1. Science Exhibitions / a5 TreRifar
2. Science Games / TR @@

3. Science Fairs / fasTH A

4, Science Songs AEEIGKIG]
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Correct Answer :-

« Science Songs AGEIERIG

2) Who gave the model of “Cone of Experience”? /
"I S THRININGY" BT Afsd fovwe foar ur?
1. Burton / §¢

2. James S. Kinder / @THW fex

3. Edgar Dale / USTR 3d

4. Carter V. Good / HIEX 4. 1Is

Correct Answer :-

+ Edgar Dale / TS? Xed

3) Developmental Psychology is studied by other scientists, Except for:/

TS ARifaT T & Sie® oI agf~Ie | gRT Sreay fhar s &:
1. Anthropologists / A4 a3l (GITTdIToRT)

2. Biologists/ Sid fagt (SRITETORS)

3. Physicians / e TR (OB fommam)

4. Physicists / ifaa fag (rfiRmRe)

Correct Answer :-

« Physicists / 'J-ﬁﬁﬁﬁﬁa\' (o)

4) What is one method of transferring information from short term to long term memory? /

AY-PTe & Se-Frei= Wi & a wAaia w3 o i faftr e g2
1. Rehearsal / Gal*dry

2. Decaying / UcH

3. Delaying / faciaan

4. Chunking / T

Correct Answer :-

» Rehearsal / q;ﬁmm

5) What is the smallest unit of speech known as? /
UG 3} TaH BIE! SHTS D1 T BT oIl 82

1. Morpheme / ES o] (ﬁm

2. Word / Rleq (a—éF)

3. Syntax / AIHI-f4O (Rica)

4. Phoneme / WA (qﬂq'r\q)

Correct Answer :-

« Phoneme / WFH (1)

6) Permanent hardness of water is due to: /
oI B R HERAT $T BRI ¢:

1. CaCOs

2. Mg(NO3 ),
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4. NayCO3

Correct Answer :-
3 MgClz

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here, the 20N and 50N are acting towards left and 30N
is acting in the opposite direction. Now the resultant force acting on the body is: /

T Sfee] THad I W TS 1T T 20N, 30N 3R 50N P T Fef oiTa &1 20 N 3T 50 N, I8 3R @79 & 8} 30 N faudia ez & ovra
21 frpra W T arer R g9 feam 82

1. 40N towards right / GIJ 3R 40N

2. 40N towards left / STY 3R 40 N

3. 40N in the downward direction / 71d BT 3R 40 N
4. 100N towards left/ €7 3R 100 N

Correct Answer :-

« 40N towards left / 9T 3R 40 N

8) Ultra microscope is set up based on which property of colloids. /

ST AISH DY HIA5S P [P 0T F MYR R TG fhar mar g1
1. Brownian movement / T30 Tifd
2. Tyndall effect / }ES@ qu@

3. Electrophoresis / 3331?1@1 RENE|
4. Coagulation / STHIG

Correct Answer :-

+ Tyndall effect / {&&A UHT@

9) is the only mode of heat transfer which doesn’t require a material medium. /
THHTH ST RIHIARUT ST it § foread anasht a1 &t srawadar =151 gidt g1

1. Convection / Jdg-

2. Heat pumping / HBHT af’i
3. Conduction / I<I-
4. Radiation / fafdsur

Correct Answer :-

« Radiation / fafdszur

10) If the amplitude of vibration is increased to three times of its initial value, then the loudness of sound will: /

e HUT & ST 1 3P WRIAIG Tea F N A1 a g1 faan wirar 8, A w@af~y 3t vaean grf:
1. be doubled / &I T[T

2. be six times of its original value / 39 IRdfd® A BT ST :
3. become three times of its original value / 30 dR&Ifde AF &1 dH AT
4. become nine times of its original value/ 34 aRd(d® AF &I Ell RIGH

Correct Answer :-

« become nine times of its original value/ 30 IRKfd® HH &1 RIGH

11) In an electrical cell , the energy is stored as:

T fagyd Aa ¥, Sl &) 39 wu ¥ Sudha forar Srar :
1. Charges/m
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2. Heat energy / % HI Kl
3. Chemical energy / IS
4. Nuclear energy / URHIU[ 3l

Correct Answer :-

+ Chemical energy / S S

12) Select the statement which is not true: /
S FY BT TG B ol I ol &
1. Sound travels faster in metal than in air. / @, qag D1 Ul 1g H ol 9 gB el 5
2. Sound can be easily propagated through vacuum. /
faia & Arem § <ol S & v &1 o Wbl 31
3. Sound can be produced by the vibrating air column. / @f, HUH gaT WY GRT ITGd fhaT oI Tabvell g |
4. Sound can be propagated through any medium. / 5T +ft A1eam & @ et § UHIRd &1 o1 Tedl 71

Correct Answer :-

+ Sound can be easily propagated through vacuum. /

frafa & Areaw I &gl L S wlid &Y ST gl 71

13) Select the pair of forces which are non-contact force: /

I Tl & T BT 991 DY, S 3RYRY (ATH-BI-<a<) T4 8-

1. Magnetic force and electrostatic force / ﬂaa‘ﬁq T 3R @Réﬂfﬂﬂw
2. Muscular force and magnetic force / Uit 9 3R WW

3. Muscular force and frictional force / URT §d 3R TYUr g

4. Electrostatic force and frictional force /FRIR 3?{9,?[ ERERR LK

Correct Answer :-

» Magnetic force and electrostatic force / W T 3R @Raﬂ:ﬂﬁw

14) In which one of the following cases will Common salt dissolve in water most readily? /
Frafafea & Q fea e & IR 79 oHT # 999 SR 3 faafa g s
1. 10gm of Ice at 0°C / 00 AfRTT W 10 TH T

2. 10 ml of water at 90°C / 90° I W 10 fciieliex i
3. 10 ml of water at room temperature / HHF dIUHE WR 10 clidier 5ia
4. 10 ml of Ice cold water / §BIdl 38 W1 &7 10 fielichie

Correct Answer :-

« 10 ml of water at 900C / 900 TR W 10 fHelieiie Sia

15) Alternating current is not used in: /
TATadT Y1RT BT IUART SHH 731 fobar ST @:
1. Transformers / m

2. Electric heaters / ﬁgﬂam

3. Electric geysers / ﬁ’{gﬁ”ﬁﬁ?

4. Electro plating / faggd U

Correct Answer :-

» Electro plating / ﬁ@ GG
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16) The process of conversion of water vapour into liquid is called: /
T AT & Fd W FUTAROI B fsHAT HEer! g

1. Sublimation / U

2. Condensation / {91

3. Melting / TTci

4. Fusion / 01

Correct Answer :-

« Condensation / &=

17) During rainy season the rain water goes deep down into the earth passing through different layers of soil.
Which one of the following processes does not occur during rain water seepage into the soil? /

TIT F HaH H i &1 a ) & fafire wret d eRd gu gt 9 weRis # gar srar 21

i & it & gt # e & e Fraferfea & @ ot < wfear =6 afea gt 82

1. Filtration / e

2. Sedimentation / 3{d¥TGT

3. Distillation / 3{T-IdT

4. Decantation / TRARUT

Correct Answer :-

« Distillation / HT-IdT

18) The commercial unit of energy is expressed in terms of: /
Sl @t IS HTE §1 Ue) & Jad B it &:

1. Nm

2. kW

3. Joule

4. kWh

Correct Answer :-

« kWh

19) Which of the following surfaces absorbs the least amount of heat energy when exposed to heat radiation? /
Frafafea & § o9 3 Tag S fafdwor & Hudh & o R $0 & o1 ST el I Aaifd Fedt 82
1. Surface coated with white paint / Jhg Uc g dg

2. Surface coated with red paint / @Te U ¥ AfUd Tag

3. Surface coated with black paint / B de d aﬁﬁﬂﬁ’s’

4. Surface coated with dark green paint / TTeX & T ¥ Aftd Tag

Correct Answer :-

+ Surface coated with white paint / Gthg Uc J QfUd Idg

20) Which of the following combinations are most suitable for composite fish culture? /

ot earae & e e & 9 9 1 waeE 999 Suga 82

1. Middle zone feeders and bottom feeders / H& \_Yﬁqtfﬁgi' QHETEHW

2. Surface feeders only / WWW

3. Surface feeders,middle zone feeders and bottom feeders / Tdg BISY, AT Wi HIS: U4 dicH HIg
4. Surface feeders and bottom feeders / 9dg WIex Ud SIcH BIsT
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Correct Answer :-

. Surface feeders,middle zone feeders and bottom feeders / Tdg WIsx, HEd WF BIsX U4 dicH Bisx

21) Which of the following natural phenomena cannot be predicted accurately? /

Frafafea & & fa nefie gen 1 wdte uidwrarh 78 1 s awd 82

1. Lightning / fereTelt
2. Thunderstorm / \’rﬂ?ﬂ-?ﬂfb—l—"f

3. Earthquakes / Y]
4. Cyclones / dshdld

Correct Answer :-

+ Earthquakes / {h ]

22) Which of the following is not an animal protein? /
Frafafea & w1 ue e WA T8 82

1. Wool / 3

2. Silk /XM

3. Milk / G

4. Pulses / qIdl

Correct Answer :-

« Pulses / qIdT

23) Which of the following is not related to sound? /

Frafafea & & o w @l & Wt T8 82
1. Frequency / SﬂT{ﬁ‘l

2. Microphone / TSI

3. Loud speaker / T3S i

4. Myopia / AT

Correct Answer :-

» Myopia / arE

24) Which is not a major advantage of Crop Rotation? /
fPrfereT # 9 a1 Bad SiTad= o1 9T a1y 81 82

1. Additional use of fertilizers / 3aRap] I Sffaifa IUINT

2. Conservation of soil productivity / J&T SATGD T T TRETUT
3. Weed control / TRUAAR g=07

4. Increased yield / SUST H q@

Correct Answer :-

. Additional use of fertilizers / Javeb! o1 3ifaRed IudiT

25) Choose the incorrect physical property of non-metals. /
ergait ¥ g Wi ur &1 9uE ¥

1. Generally they have low density. / FIH-d: Ycd HH gl gl
2. They are not sonorous. / Wﬁﬁ :I_E?[ Eﬂﬁ %l

3. They are brittle in nature. / Q?ﬁ‘f ﬁ 'H":R Eﬂ?f %I
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4. They have high tensile strength. / 3= d-UdT &HdT gIcl &

Correct Answer :-

« They have high tensile strength. / 3= d-=Adl &Hdl _b;l_rﬁ %I

26) Choose the incorrect statement among the following: /
frad | ergfra aader &1 9 v
1. Potassium is always stored in water. / de Ry &) ghRn g H 3@ ST g

2. Potassium can be cut easily with a knife. / ey U i T 3T Y PpIeT S Taodl %I

3. Potassium reacts with dilute acids to produce hydrogen gas. /
BISSIo T BT TG B & [0 TIC R T 3 & A1y ARG aar g

4. Potassium when burnt in oxygen forms its oxide. /

SfRioH § TR oM R TR &1 3ffegs S8l

Correct Answer :-

« Potassium is always stored in water. / MeRmH B Eim'ﬂ Tt § @1 ST % |

27) When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2 cm, then the stored energy will be increased by: /

SId U HHM P12 A a6 arfd far wiran €, @ 359 1000 Soif Sufed g 2, afe 38 2 I iR eiftre arfra farar wimar €, a9 wudla

St # fat gfe ahtt:
1.400
2. 100
3.300)
4.200]

Correct Answer :-

+ 300J

28) Qut of the following options, select the correct relation for the electric power. /
Fafafea el 9 9, fagga afda & e 98 969y o1 999 330

1.P=V/R2

2.P=VZR
3.P=IR2
4.P=TR

Correct Answer :-

« P=VZR

29) An olfactory indicator among the following is: /

farfuwagEs e
1. Phenolphthalein / BIHIcTa e

2. Soap / T
3. Clove / QT

4, Turmeric / @ w

Correct Answer :-

« Clove / QT

30) The SI unit for measurement of length is: /
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dlg @I HIU & 1efJ SI SPIS &:
1. Millimeter / fPefiiey

2. Kilometer / fo@iiiIey

3. Centimeter / YTHIER

4, Meter / HieR

Correct Answer :-

« Meter / HieX

31) If a student is able to make predictions in an experiment by making logical connections using correct evidences, he/she is capable of:

/
Tfg B frenf a8 w1eht &1 IUa $& arfhe Gau TR Ree waT & gd-ge 33 § gem 8, i ag P i gam &:
1. Drawing conclusions / s e
2. Observation / 3{dqIh
3. Experimentation / W
4. Providing explanation / SISIHRUT FeH &l

Correct Answer :-

 Drawing conclusions / e fReprem

32) What is mineral oil? /

@i aa 18?2

1. A mixture of glycolipids / TSNS BT T g

2. A mixture of hydrocarbons / E’E@T‘b—lﬁ Canca Trsyor

3. A mixture of lipids and minerals / faforst 3R @l &1 THh B
4. A mixture of water and oil / T} 3{R I BT U,Tﬁﬁ%l'UT

Correct Answer :-

+ A mixture of hydrocarbons / WWW%N

33) Find the time taken by the sound to travel through a distance of 5 km, if its frequency is 2.5 kHz and the wave length is 20 cm. /

afe wafy &Y emgfy 2.5 freed @ ok awrdef 20 it @ oY 39 5 fh &t aen w7 fvam W @@, 3 32
1.2.55/2.59HS
2,205 /20 §bs
3.10s/ 10 §hg
4.15s/ 15 9bg

Correct Answer :-

.« 10s/10¥FHs

34) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

;ﬁﬁy%ﬂﬁvsﬁzﬁﬁma@nﬁﬁm@w%mﬁ%mm%mwﬁﬁwﬁﬁﬁaﬁa@mﬁmﬂ
|

1. Carboxylic acid / FIEadlcd
2. Alkali / 3fcshall

3. Mild acid / Gl 3T

4, Salts / €qUT

Correct Answer :-
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o Alkali / Sfehcil

35) CANCELLED
is not an organic acid. /
U SPIEfId 3T 6l g
1. Oxalic acid / STl 33T
2. Acetic acid / URITC® =T
3. Formic acid / BITH® 31T
4. Carbonic acid / BTEH 30A

Correct Answer :-

« Carbonic acid / BE-dH 3

36) CANCELLED

If ‘F is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the relation

F=X(mv)/(1+Y) are respectively /

g P T §, ‘m’ S § 3R v TG, T F = X(mv) S HEY H x° 3R v’ F mam g

LT, T!

2.LT, LT

3. T-!, dimensionless / T-!, STATHGI
4, dimensionless, T/ GHUTQ—E:ﬁq, T

Correct Answer :-

« T°L, dimensionless / T*!, Gfl'qTJ:I_Eﬂ:f

37) CANCELLED

Identify the correct set of isotones among the following options. /

Fafafed el & & worrifre & 3fta S ot ugam #¥1
12N and 150
180 and 50
$%Ca and i3K
$%4r and $5K

4.

Correct Answer :-

15 16
2N and *§0

38) CANCELLED

Which of the following statement is true: /

faffeTd e ITPyTIae:

1. Thrust is the force acting normally on a surface. / tﬁt[ U Hdg U JHG =Y Y HTH FHA I1dl §d % |
2. Pressure is directly proportional to the area. / qdld, AAHd &b U G{H‘Tfﬁrcﬁ%l
3. As thrust increases pressure decreases. / aﬁ-aﬁ aq dedl % cdld DH Eﬂ?ﬂ STl %l

4. Pressure is inversely proportional to force applied. / GaTd, AR 9d & fqmid sguifa® g1
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Correct Answer :-

+ Thrust is the force acting normally on a surface. / i%q U Hdg IR JHEG =Y Y HTH HA 1Al §d %l

39) CANCELLED

A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
TP 59 72 it/ ver ot wfa & 99 6 3, sHe afa 9/ § uRafda o

1. 10m/s / 10 HA

2. 720m/s / 72 HIR

3. 30m/s / 30 HA

4. 20m/s /20 A

Correct Answer :-

. 20m/s /20 HIAY

40) CANCELLED

Which one of the organisms mentioned below is a herbivore ?/
2 afdfq Sftat & @ B9 @ e 82

1. Shark / TM&H

2. Peacock / AR

3. Frog / g

4. Mouse / TgIl

Correct Answer :-

+ Mouse / TgIl

41) CANCELLED

Which one of the following factors will change the magnitude of Equilibrium constant for the following reaction?
Nag) + 3Hz(g) = 2NH3(q) /

fFafafee & § o9 W ore Fufala sfifra & e ar dgaa $ ofvoo & gea am?
N2(g) + 3Hz(g) = 2NH3(q)

1. Use of finely powdered Iron catalyst / Eirica ?Luff'h_é' IR BT IR

2. Decrease in the pressure of Np(,y / Np(q) & aag § ol

3. Increase in Temperature of the reaction / ST & auaE o q@

4. Concentration of Reactants / 3fH®HHDI BI igd

Correct Answer :-

» Increase in Temperature of the reaction / SHfiferar & qraw o q@

42) Which of the following is not a part of the 5E constructivist model of teaching-learning? /
Frafafea & & S Rierr-oftnm & sE TR viea @1 v 78 32

1. Engage / g (Q'ﬁTID

2. Elaborate /ﬁ'ﬂ?‘f (Q@é’c’)

3. Enhance /éga? ( Q:i%ﬂ)

4. Explain Jau= (Q?FH@FD

Correct Answer :-

» Enhance / é%az ( Q:{%?I)
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43) Which of the following is not a characteristic of a good textbook? /

frafafea & 3 919 9 te ot urougw® 3 fadiyar =€l 82

1. It may not cover the entire syllabus of one stage. / Ig U ARUI & YR YIGAHH Pl g T8 H= b gl
2. It is a finished product for transferring the knowledge. / 98 I 3 RESIGRLI o ﬁ"l'q Udh TR Il %I

3. It should not be self-contained. /Wm q0 Wmﬁa‘ﬁml

4. It may not be necessarily for a whole year. / 78 U QX 99 & foU siiaad =18l &1 Gadl 81

Correct Answer :-

« Itis a finished product for transferring the knowledge. / Ig I ® RESIGRYI & ﬁ*m TUdh TR Il %l

44) Which of the following is an objective for teaching students of higher primary level (V, VI, VII)? /
I WA TR (V, VI, VII) & B Riew ¥ R oy asmd st e
1. Development of understanding of laws, concepts and principles /
g, srayRomel iR Rigidl &t wHe 1 far
2. Development of power of reasoning /6 B idd $I [dwm|
3. Development of practical outlook / BUIHEHW —ETWUT EAREEaR]
4. Development of interest in reading scientific literature / EEIREER R g § = &1 fapm|

Correct Answer :-

» Development of power of reasoning / ad o e 1 fawral

45) An example of merry-go-round can be used to explain which of the following scientific concepts to the students? /
A-T-3EE (&St o1 Serexu HufalRad § 4 o o g sauRn &1 O of GH= & forg sward [$ar s godr g2
1. Oscillatory motion / W Tfa

2. Rotation of Earth /t,[ié)f gl H;Uﬁ

3. Gravity / T¥cd

4. Centripetal force / Bl T

Correct Answer :-

« Centripetal force / W@H’@Iaa

46) Clinical thermometer is designed to measure the: /

Faife ynftiex 3 58 A & fo feeme= frar man @:

1. Temperature of the chemicals used in the clinic / Fii-d & Tk X! T YA
2. Temperature outside the clinic/ FAfe & CIRRGIELIG]

3. Temperature inside the clinic / FAIE & e AIEE

4. Temperature of the human body / HId IRR BT ATAA

Correct Answer :-

« Temperature of the human body / HId YRR BT AaHH

47) What is the duration of kharif crops? /
THE waal Pt e@ft T g2

1. June to October / ST ¥ 3{agaR
2. March to September / HTH I RidaR

3. October to March / 3fdgeR 4 Ad
4. November to April / TdsR I 30

Correct Answer :-
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+ June to October / V1 X 3dg ek

48) An object completes 120 revolutions in 30 seconds along a circular path. The ratio of its frequency to its period is: /

TS a3 U URUF U4 TR 30 s & 120 TRBHUIN B! 1 ! §1 39 @iy & e swat engfy o1 egurd &:

1. 1:4

2.1:2

3. 16:1

4.4:1

Correct Answer :-

- 16:1

49) The force acting on the bullet when it moves through the air towards a target is: /

AC W A 16T 99, 5F 39T F 3T BT 30X Iga1 ¢ o) 987 8
1. Force due to the gun / §g@ & HRU qa

2. Gravitational force alone / 3fahel W‘STUTW

3. Gravitational force and frictional force. / W‘STUT T 3R T 5|
4. Frictional force alone / 3¢l TYUT &

Correct Answer :-

+ Gravitational force and frictional force. / WW IR Y1 54 |

50) Expanding and cooling of hot air results in: /

T ga BT AR R e e & & feweT uivomy g &:
1. Condensation / Hg=

2. Vapourisation / a0l

3. Hail storm / SIcTaeor

4. Precipitation / 3{g&qor

Correct Answer :-

« Condensation / §a-1

51) The radiations absorbed by ozone are: /
SIS gRT Sra=ifia fafdwor §:

1. Ultraviolet rays / ORTSTY farR0T

2. Infra red rays / 3{ddd fovor

3. Gamma rays / TTHI fopeur

4. X-rays / TR

Correct Answer :-

« Ultraviolet rays / RIS favor

52) Ateacher explains that during experiments, one can verify results using more than one method. This shows an understanding of which

attribute of scientific temper? /

TS e oren &d & fob v & R, Te R it fafkral o1 Sua s ulkums) &t weriid far 5 aedr & 1 599 e

WU $ DI RRhvar w1 Ay gar g2
1. Critical thinking / T8 fia
2. Open-mindedness / AGUIRIICTd

3. Respect for evidence / 18T & T T

Page- 51



4. Logical thinking / dllep < [ddq

Correct Answer :-

« Critical thinking / T8 felc

53) For a person suffering from hypermetropia, the image of the object is formed: /

el 3y | ffdd v safe & e avg &1 wiafde Sar aar @:
1. Behind the retina /Xfe-11 & Uiy

2. In front of the retina / XfST & AHA

3. On the retina / ST TR

4. On the eye lens /A AT R

Correct Answer :-

« Behind the retina /3T & W

54) Glucose drip is usually given to a physically weak patient because: /
TPHIS ST MR R IRIRE ©U / FHSR A & faar wiran § ife:

1. He is not drinking enough water. / 98 AT ST gl U QT g gl

2. Dehydration can be prevented. / T fAoiciiaur o) T I Iha 81

3. It readily gets absorbed for energy. / T8 TRAAT I Foll P 1T TN &Y ST B
4. He gets a balanced diet. / a8 S99 Tferd SER U &

Correct Answer :-

« It readily gets absorbed for energy. / T8 TRAAT T FHoif & [oQ =Ny &I el g

55) If the angle of incidence in the first medium is equal to the angle of refraction in the second medium, then the
absolute refractive index of the medium is: /

TS ugs wrend #§ SMufd ST g HIeHH § S(Uad= S BI101 S FHH ¢, 9 A1H b1 quf Srvads guais 8
1.1.33

2. 1.1

3.1.0

4.1.5

Correct Answer :-

« 1.0

56) Which one of the substances mentioned below is not responsible for the depletion of ozone layer? /
2 Rm 1g werf & / 17 W1 Siiei WA F oraer & g Iwwardt 7 82

1. Carbon tetra chloride / PTa m

2. Ammonia / 3T

3. Aerosols / TRRIA

4. Chlorofluoro carbons / FARTRISRIGTET

Correct Answer :-

« Ammonia / 3T

57) Gallinaceous domsticated fowl,bred and raised specifically for meat production is: /
Tegape-Tadh uraq ueht, 7% oY fafkie ¥u 7y Iwe & g ureht o 2:
1. Rhode Island / S Sg0iS
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2. Turkey / Uz Udll
3. Broilers /ﬁﬁ?ﬂ
4, Ducks / d<9

Correct Answer :-

 Broilers/ QTEFR

58) Unambiguous instructions are always required for: /

fora & fRrg gim voe A emavae d &

1. Long Answer type questions / & STRIT U4

2. Supply type objective questions / ST (GHEﬁ) HoR %a’iﬁﬁg ki
3. Selection type objective questions / I UHR & aﬁﬁg uy

4. Short Answer type questions / €Y, IR YUY

Correct Answer :-

+ Selection type objective questions / T YBR & aﬁﬁg Y

59) Fishes live in water. It is their natural_____ Use the right biological term. /
Hofea, T A Ed &1 T STaTwplie 21 Suge Wid® I &1 wau S|
1. Home / WX

2. Habitat / STAT{

3. Environment / dTdTdX0[

4. living space / 3§ &1 ®IH

Correct Answer :-

 Habitat / 3dF

60) Which of the following topics clearly demonstrates the interdisciplinary nature of science? / Fafaf@a & @ P9 a1 fawg

WY 7 A fage oY smrfawge uefa o) qufar g2
1. Colloids / D158

2. Evolution / 3%d

3. Programming / SHHTCRI (WTITTHT)

4. Astronomy / G¥Id fa@nm

Correct Answer :-

+ Astronomy /@'hﬁ CEI]
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